PreCalculus Unit 2 Review (Practice Test) DATE:

Non-Calculator
Write a function that fits each graph in problems 1-3.
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4) Solve thga quadratic equation two different ways: 5x% —2x —3 =0
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5) Givenx = 4isa root, find the rest of the zeros for f(x) = x3 + x2 — 16x — 16.
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6) Determine the polynomial of least degree given the zeros 3 -iand -2. Y
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7) Determine how many complex zeros there are for g(x) 3.751% 6x + 5x - 11 and explain
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8) Given the graph, determine the lim g(x) and lim g(x).
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9) Determine the end behavior in problems 1 and 2.
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10) Write a polynomial function of least degree in factored form with the following zeros:
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11) Write a polynomial function in factored form that has a zero of 0 with multiplicity of 2,
®, a zero of =3 with multiplicity of 3, and a zero of 1 with muItlpl|C|ty of 2. @ @
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12) P(x) = —2x* + ax® — 3x* + bx — 15. P(x) is divisible by x — 3. P(x) has a remainder of —32
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Calculator

13) Solve for q: 2¢q® — 10g = =5, 25°- log - S= 0
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14) Flnd the solutions of the following equation: ¢? +3 =¢
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15) Determine all complex zeros for w(x) = x* — 8x2? — 9.
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16) How many real zeros are there for b(x) = 2x3 + 3x2 + 3x + 9? How many are
imaginary?  geoph Yo find x- Owtercepts (neal Revots) | real 2

S A - - € l

7 Lo 8 \ < )  put
- f . <>l p - ns:
‘\ ‘ 4 g j Qa0 3 . - v € 1
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) (x) = '\a.a.axvucdé so WWWN:

o M) = oo (2 ¥ : 4
&f_\ %) Seo u_s')g-vob W\.Cx)—?,eo

U meyy= — o0 =
W= 00

18) Find the vertical and horizontal asymptotes for:
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